[ Efficiency vs vertpos |

0.95 : :
1072 10 1

2

DQ
DQ _
— DOM_TT 1pt09_PU
[Efficiend —— DOM_TT _2pt09_PU

~N 1.2

TR S S

efficiency vs ver

s o S e

e e e

Ratio

0¥/ —=20 =10 0 10 20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |

~0.05F :
> F
B0.045f -+ {-t-eeeeedeeeee b b
1S E :
'(7)0.045— ................................... oo
B.035F -t S
Py E :
00.03F - deeee b b S
9 - & - :
.025F - -b e b S
(] E :
0.02F H S
0.015f - S
0.0+ T
0.005F - HT Foreives Joif g Lo ifoe o
P = [
9 J..LU_ |
T E
o [ ]
1_—' “HH?? -+ D
OS50 5 10 15 20

Sim. PV z (cm)



	Contents
	Page 1


